FRRT 3 X

— g A R AR (FAFHhX)  HER
108t H AR EHEM
HETE (8Y%)
5 AN
BRRS ErER MR
AO~25mET) 615.60 [ 133. 48 [
*E'(ﬁ_*?,\%) B (2588 ~250m = T) 776.52 F 127.04 F
C(250MERZHBE) 1.586.52 9 123.80 /g
<ZRHERERHT>
OISy (faEthX) RE HER
108t HAKEEM
HETE (8%)
HEAREE KEHEHEM
FalEih X
IR 1.752.84 1 85. 66 /3

KEHFTN~4F1RE ST, TOMBIS~I0ARH ST ELRY FT,
XEDMAIT A X EIEHR (HEBR) OREEQTYFT,

OBMNTS S (HISHE) Hex
10128155 2 244 B
HEBE 6%
s2 AN
R PP RERS R
FAEZ Hh X Rt 1,752.84 M 62.84 M
(43.1MJ) %R < #IRS 1752.84 M 85. 66 /M

XEHILT~I RS 5.

EHERCEHRMIII0~6ARE N LT Y ET,

OEMNNTS Y (HBHK) MER
10 A 12850 7 A4 & B Al
HERE (8%)
EAME HEER & EM
FaE 3 X
(43. 1) 1,752.84 M 712.94 A




Ak X

< EBRZERNF>
OB AZE (HREHR) HER
HEAHE =T 10 A #&&t 5
HEEF £ E(fh
SHEFEE (8Y%) SHEFE (8Y%)
U5 3 X E4E 1,836.00 M
(43.1MJ) wmeE (Imbtzy) 333.59 M 93.92 7
OFEHAI B (HEHhR) HER
HEAHE =T 10 A #&&t»
REE=H L EAfh
SHE T (8%) SHE TR (8%)
ERE: 77,112.00 [ |,
T4 (B2 19.332.00[ | | E 66.05H
2 Hh (X E3iE 972.00 M |,..
*%‘“E?'IV%J) FE (mbrY) ] e 08.43 H
B (Im&mt=Y) 6.41 M [,
ZW (mbiY) O 10.70H
Qa—CzRL—2a VP ATLEY ABGHKEK) HER
HEARHE =L 108 &t 5
EEHEE
SHEBE (8%) SHETEE (8%)
E4E 9, 720. 00 [
ot |[rE (mery 14471 A 63.43 F3
RAEEH (ImbHf=Y) 1.10 @
OXHBRZEAI2YN HEhX) HeEXR
HEAHE HEHE 10A %t H
e =i
SHEFLE (8%) SHETEE (8%)
U Hh X E4E 1,620.00 M [#nHusf 84.77 M1
(43. 1MJ) #E (Imbt=Y) 333.59 [ |&H] 95.89 1
XZDMhEAIEA~11 A&t . KEFI12~3AREDELGY FET,
OFEFEHRH (ABEBX) ZFoihil #HER
[ZDithEd]
HEAHE EERE 108 128t 5
WE=FE
SHEFLE (8%) SHERE (8%)
178 11,016.00 M | 17& 67.44 |
U Hh X E3E (278 3,240.00 @ |21& 69. 58 |
(43.1MJ) 37& 540.00 9 | 3%& 71.81 [
g (Imbt=Y) 233.51 @
[€3:5))
HEARHE =L 108 %t 5
WE=F £ i
SHEFEE (8Y%) SHEFE (8Y%)
A (0~19MZET) 561.60 @ |[A (0~19m%T) 138.25 M
5 Hh X gz |B_(198~98MFE T) 841.32 @ |B (198 ~98ni%xT) 123.82 M
(43.1M9) R (98 ~339mE T) 1,000.08 § |C (98#~339ImM%ET) 122.21 F
D (339M%Z BBA) 3,222 721 |D B9mEEz21B8) 115. 66 |

KEDMAIFA~ 1T ARE S, ZHFTN2~3ARED LBV ET,




X

OINBIZEERZEE) (FAHR)  HER
HEAH & HEHE 10A#%Et
= F S E(
SHETE (8%) SHEBE (8Y%)
Z Dt 70.13 F
158 2,052.00 9 | 138 £ 97 67 F
H]
e |ea|ea 1,080.00 1 | 278 igﬁi"ﬂ 133 ig E
Z D ihER 89.27 M
31 777.60 /| 31& T 6 80
XZ DM EA~11BiRst5. RHEI2~3BRUDERYET,
OMEZY (REHK) HER
(@& PR EAR )
HARHE HE=EHE 108 #%&t 5
=R EEM
SHEFREE (8Y%) SHETLEE (8%)
I X g [A_(~9TIMET) 1.296.00 @ |A (1~971m%T) 102.69 M
(43. 1MJ) TIB O7TIm#ERZZ31EE)| 12,960.00 0 |B 97TImM%#z 5548) 90.68 M
(i FREART 41 )
EA¥ & HEHE 10A#%&t o
EEHEEM
SHE T (8Y%) SHETLE (8%)
A (0~19M%ET) 561.60 [ |A (0~19m=ET) 138.25 /M
HE X o gg |[B_(19E~08niE T) 841.32 [ B (198~98m=T) 123.82 M
(43. 1MJ) e (9818 ~339m % T) 1,000.08 [ |C (98 ~339mET) 122.21 H
D (339m%#Ez 5154) 3.222.72 M |D (339mz#z28B8) 115.66 M
XoEAHREIE1 B ~3A%E . ERAMAENTI~10ARM D EBYET,
OFER T EMRRAT RAZY (FHBHEX) HER
HA#E HEHE 10 A t&&t 5
EFREEM
SHE T (8Y%) SHEBLE (8Y%)
ﬁﬁ%ﬁ) =48 1,620.00 [ 82,44 {
OEAWMEBRZYN HBHR) HER
HERHE REEHS 108 #&8t5
HEEH S E
SHEFLEE (8Y%) SHEBLE (8Y%)
*%ﬁﬁ#?ﬁﬁ) =48 54,922.32 /9 79.30 [
OXFBRZHN (mBHTmX) HER
EXRHS REEHS 108 #&t5
RSB
SHERE (8%) SHEBLE (8%)
Al X 38 3.069. 36 [ 102.33 M

(43.1MJ)




X

OFEFEEH aEHthR) HER
HEAH & HEHE 108 & &9
EERESEMm
HEE (8%) SHEFEE (8%)
Z D 81,92 /9
158 6,026.40 1 | 178 5 63
H]
e |ea|ea 1.314.36 1 | 278 igﬁi"ﬂ Sf’ §§E
O 88.51 /g
378 657.72 1 |37 i S
XEDIHEA~11 Bis 5. ZHEI2~3ARHNERY £,
OBIER T EMRA N REIA2E FABHR) #HER
HEA¥ & HEHE 10A#%&t
=R EHEM
SHEBE (8%) HETE (8%)
iR e | 178 8.331.12M@ | 172 63.28 [
(43. 1) N Py 175284 @ | 278 77.10 [




